L= Length of pendulum

Table 7.1
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V.DATA ANALYSIS

In the following, for simplicity of notation, we will replace T a

respectively.

1. Using the data in Table 7. 1; make a plot of T

(horizontal axis).

2. What type of relationship do you observe between T and L? Is it

linear? Is it consistent with Equation 7.14?

I s et

nd T2 by T and T2,

(vertical axis) versus L




able 7.1, e
3, Using the dat2 present
b :
S e - rvein the previous graph? I8
. 1 obse .

4. What type of relationshiP dCT yo i) ¥ Equathﬂ 7147

it consistent with the theoretlcal predicina e =t St
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5. Draw the best-fit line for the data presented in the T? versus L 8T P
d above?

6. What is the slope of the best fit line found in 5 obtaine
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8. Using the value of the slope that you obtained in 6, calculate the

acceleration due to gravity (g) at the University of Jordan.
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